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EXPERIMENTAL PROCEDURE 
FOR: “ATTITUDES TOWARD 
CHOICE WITH INCOMPLETE 

PREFERENCES: AN 
EXPERIMENTAL STUDY”. 

 

 

 

The experiment was conducted in the Inarbe Laboratory of Experimental Economics at the Public 
University of Navarra in different sessions in November 2020 and in May 2021. 
 
107 people enrolled in the experiment, but finally 99 participants showed up among the 6 sessions 
which took place. Between 12 and 19 people took part in each session. 
 
All subjects were either undergraduate or graduate students. 
There were 39 men and 60 women. Participants spent around 90 minutes and earned an average 
of 14,63 €.  
 
The experiment was run using the software Ztree. 
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INTRODUCTORY 
INSTRUCTIONS: 

 

During this part of the session, the instructor read the instructions below aloud. General 
instructions were combined with some examples of the task would perform later when doing the 
experiment. The examples were interactive so the participants could familiarize with the interface 
and the procedures. Questions were allowed and were answered aloud.  

We copy and translate the instructions. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3 
 

 

 

 

 

Translation 

- Welcome and thank you for participating in this experiment. 
- During this session, you will have to answer some questions. 
- You will receive some amount of money, which will depend on your answers. 
- It is totally forbidden to speak with other participants and to use cell phones. 
- The non-compliance with these rules would entail your exclusion from the experiment 

without any payment.  
- You have already earned 5 euros for showing up. The rest of your payment will depend on 

your answers. 
- You will have to stay in the lab until the assistant concludes the session. 
- Now the assistant will read the instruction aloud. 
- If you have any question, please raise your hand and ask the assistant. 
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One way of obtaining additional earnings to the show up fee is to make an estimation over some 
sport competitions. 

Next, we will show some examples of estimations to be made. 

You can give an answer or not, in this stage the answers do not have any value. These examples are 
just here to help you to understand how the experiment will unfold.  
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Task name:  Tenis_Juegos1_Juegos49 

Estimate the difference between the number of games won by the first player of a tennis ranking 
and the number of games won by the 49th player of the ranking in the year 2010. 

You have 40 seconds to observe the ranking for the 5 previous years and give an answer. 
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Sometimes it will appear more than one estimation. 

In this case, you will have 40 seconds in order to observe the previous rankings related to the 
estimation to make and in order to choose and complete ONE AND ONLY ONE of the requested 
estimations. 

Next, you will see an example of this case. 
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Estimate one of the next options: 

. Example_BasesRob_1_5 Estimate the difference between the bases robbed by the first player 
and the bases robbed by the fifth player of a baseball league ranking in the year 2019. 

. Example_Row_1_5. Estimate the difference between the Row statistic obtained by the winner 
and the team ranked fifth of one of the conferences of the NHL in the year 2010. 

In the next screen, you will have 40 seconds to check the ranks of the 6 previous seasons and 
complete just one estimation. The one you chose.  

Notice that the name of the estimation refers to the task that has to be made.  
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Each estimation has a maximum prize of 15 euros. 

If you make an estimation, you will get the difference between the maximum prize and the error 
you could have made. Suppose that you have estimated that the correct answer to BasesRob_1_5 
is 25 and that the correct answer is 30. Then, you will obtain 15-(30-25) = 10 euros plus the 5 euros 
that you have earned for your participation in the experiment. 

If you make an error higher than the maximum prize you will get just the 5 euros you have already 
earned for participating. Suppose that you have estimated that Tenis_Juegos1_Juegos49 is 150 and 
that the correct answer is 130. In this case, the error is higher than the prize, so you will only 
receive the 5 euros of the show up fee.  

If you do not provide an answer within the available time, you will obtain just the 5 euros you have 
already won by participating. 
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Making an estimation is one of the means to obtain a prize.  

The other way is to obtain a fixed amount of money which will be specified in a table. We will call 
these tables “fixed money tables”. 

For each estimation, you will have to decide whether you prefer to make the estimation or to get a 
fixed amount of money. 

For this purpose, a fixed money table will be shown. For each estimation, you will have to state if 
you prefer the amount of money and not to participate in the estimation or if you prefer to 
participate in the estimation and opt for the prize, which then depends on the accuracy of your 
estimation.  
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If you choose “money” when the amount is 10 euros this means that, taking into account the 
earnings you expect to obtain by making the estimation, you would be willing to renounce them in 
order to obtain 10 euros for certain. In this case, the computer assumes that you would also choose 
“money” for the options 11 and 12 euros for certain.  

Analogously, if you choose the option “estimation” when 3 euros are offered for not making the 
estimation, the computer will assume that you would prefer making the estimation if it offered you 
1 or 2 euros. You can choose the option indifferent just once in each table. 

If for any table, you do not choose the option “indifferent, that option will appear in another table 
consisting of the intermediate quantities comprised between the last time you chose money and 
the first time you chose “estimation”. 

For example, if you prefer to make the estimation instead of getting 2 euros but you prefer 3 euros 
to making the estimation, you will have to decide if you prefer to make the estimation or to get 
some amount between 2 and 3 euros (2.10, 2.20 etc.).  
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Once you have filled up all the fixed money tables, one table and one row in that table will be 
randomly selected.  

If you have stated that you prefer the amount of money to making the estimation, you will receive 
the amount of money plus the 5 euros you have already won by participating.  

If, on the contrary, you have stated that you prefer to make the estimation you will have 40 
seconds to check the previous classifications and make your estimation.  

In the case there are more than one estimation in the selected row, remember that you will have 
40 seconds to check previous rankings of all the estimations but you will have to answer to just one 
of them (the one you prefer).  

 

 

 

 

 

 

 



16 
 

 

 

If in the selected row, you have selected “money” you will receive the amount of money plus the 5 
euros you have already won by participating.  
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If in the selected row you have selected “estimation”, you will have to make the estimation and you 
will obtain a prize which will depend on the previous rankings and perform the estimation.  
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If in the selected row, you have selected the option “indifferent” any of the two options will be 
randomly selected.  
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The timing of the experiment is as follows: 

First, you will view the alternatives during 15 seconds in order to get an idea about the difficulty of 
each estimation. 

Then, you will complete the fixed money tables on which you have to state if you would prefer 
making an estimation with which you can win a maximum of 15 euros, or if, instead, you would 
prefer to receive a fixed amount of money. 

Later on, the computer will select randomly a fixed money table and a row (an amount of money) 
within it.  

Finally, depending on what you will have stated in the selected table, you will receive either the 
amount of money offered in the selected row or you will make the estimation. 

In the case you select “estimation” you will have 40 seconds to check the information of all the 
estimations contained in the table and answer just one of them (the one you prefer).  

 

 

 

 

 

 

 



20 
 

 

 

Now we will make a trial just to get familiar with the real experiment.  

First, you will have 15 seconds to observe the alternatives and infer the difficulty of them.  

Then, you will complete the tables for which you will indicate if you prefer a fixed amount of 
money or making and estimation.  
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Name of the estimation: StolenBases_1_5 

 

This estimation consists in guessing the difference between the robbed bases by the first and the 
fifth ranked players in the 2019 ranking. 

Next screen will show the data of the six previous seasons.  
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Which was the difference between the bases robbed by the first and the bases robbed by the fifth 
ranked players of the 2019 ranking? 
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Example 2 of estimation 

Name: Tennis_Games1_Games49 

This estimation consists in guessing the difference between the games won by the first and the 
49th classified teams in the 2010 ranking. 

In the next screen you will see the rankings of the 5 previous seasons.  
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Tennis_Games1_Games49. Which was the difference between the games won by the player ranked 
in the first position and the games won by the player ranked 49th in the 2010 ranking? 
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Now we will see an example of a particular estimation; it contains two possible calculations. The 
task to eventually perform may consist in calculating either one or the other. You will be informed 
about which calculation is actually to be performed before the final stage. 
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Name: Basket_Points_Or_Blocks 

This case presents just one estimation, not a group of estimations. Its particularity relies on the fact 
that it may be that it will consist in guessing the points scored by the player who scored the most 
scores or in guessing the blocks made by the player who scored the least scores.  

You will know, before the final stage, which of these two possible estimation tasks you will have to 
perform. 

You will have the ranking of the six previous seasons.  

This type of estimation you will have to perform will be marked with an asterisk (*). 
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Basket_Points_Or_Blocks 

This task will consist in estimating either the points scored by the highest scorer or in estimating 
the blocks executed by the lowest scorer 
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This type of estimation to perform can appear inside a group of possible estimation tasks. 

For example, the next group of estimations consist either in the estimation of robbed bases or in 
the estimation of the number the baskets. In the final stage, you will have to choose one of them. 

You have to take into account that: 

a) You have to complete the fixed money table (state which would be amount of money that 
you would prefer instead of choosing performing one of the two estimation tasks) without 
knowing if the second one will consist in guessing the  points scored by the best scorer, or 
the blocks made by the worst scorer, but you will know that this will be clarified before 
having to choose between this estimation task and the robbed bases estimation task.  

 

b) If the group of estimations turns to be selected by the computer, then, which one will be 
the second estimation task will be clarified as follows: 
 

It can be RobbedBases_1_5; Basket_Points_Or_Blocks*  (with the points crossed), in this case you 
can choose between guessing the stolen bases estimation or the blocks.  

Or it can be RobbedBases_1_5; Basket_Points_Or_Blocks*  (with the blocks crossed), in this case 
you can choose between the stolen bases estimation or the scored points 
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Now you will have to complete the tables indicating different amounts of money determining 
whether you would prefer to receive the indicated among of money or to do the estimation task. 

Some tables will contain several estimations. Remember that in this case, if the table turns out to 
be selected by the computer, you will have the previous rankings corresponding to all the 
estimations contained in the table, but you will have to make only one estimation.  
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If in the selected row, you have chosen “estimation” now you would have 40 seconds to proceed to 
your estimation. 

Otherwise, you will have finished the first part of the experiment. 
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Here your final gains will appear. 

If you have participated in an estimation, you will obtain the prize plus the 5 euro show up fee.  

If you have not participated in an estimation, you will obtain the selected price plus the 5 euro 
show up fee.  
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Suppose that the above table has been selected. Choose the right answer.  

a) You can choose between doing one, both or none of the estimations. 
b) You must choose one of the proposed estimations and proceed to it. 
c) The computer will select which of the estimations you have to do. 
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Suppose that the above table has been selected. Choose the right answer.  

a) You can choose between answering Basket_Points  or BasesRob_1_5 
b) You must answer Basket_Blocks 
c) You can choose between answering BasesRob_1_5 pr Basket_Points 
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This is the end of the instructions sheet. Press OK and wait until the experiment starts.  
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THE EXPERIMENT: 
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The experiment is about to start. Henceforth, your decisions will determine your gains. 

Next, you will observe the data of the four alternatives that you can find in the experiment. 

They are sport estimations similar to the ones presented as examples. 

The information about each of them is split into two slides.  

The first slide explains the estimation task. The second one shows the data of the previous years 
during 15 seconds.  

Next, eight fixed money tables will be shown. In these tables, you will have to decide if you prefer a 
fixed amount of money or realizing one of the estimation tasks contained in the table. 

Finally, one row of one table will be randomly selected. If you have chosen “money” you will 
receive the amount of money plus the 5 euro show up fee.  

If you have selected “estimation” you will have 40 seconds to check the information of all the 
estimations contained in the table and you will have to answer to JUST ONE estimation.  

In the case you answer to one estimation, your profit will be: 5 euro show up fee + 15 euro 
maximum prize less the incurred error. 

If you run out of time without having answered to one of the estimations, you will earn just the 5 
euro show up fee.  
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Name of the estimation: Budget_First_Fifth 

The estimation consists in estimating the difference between the budget of the club ranked First 
and the budget of the club ranked Fifth in a sport competition during the year 2020. The ranks First 
and Fifth refers to the position of each club in the budget ranking of the year 2020. 

You will have the budgets of the 6 previous seasons. 
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Name of the estimation: Handball_1_7 

Estimate the difference between the points obtained by the First ranked and the points obtained 
by the Seventh ranked teams of a professional handball league in the season 2010/2011. 

You will have the rankings of the six previous seasons. 
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Name of the estimation: Hockey_Victorias_Derrotas 

Estimate the difference between the Wins and the Losses achieved by the winner of a professional 
hockey league in the season 2009/2010. 

You will have the rankings of the six previous seasons. 
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Name of the estimation: Futbol_Licences_Or_%Licences* 

This is just one estimation not a group of estimations. It is a special estimation proposal because, 
for the moment, you don’t know if it will consist in guessing the number of football licenses issued 
by the Spanish football federation in 2019 or in guessing the % percentage of football licenses over 
the total sport licenses.  

 

Before having to make the estimation you will learn which of the two tasks is finally the object of 
the estimation. 

You will be presented with the licenses and the % of licenses of football and other sports in the six 
previous years. 

 

 

 

 

 

 

 



48 
 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 



49 
 

 

 

 

 

Next, 8 fixed money tables will be shown and you will have to declare if you choose a fixed amount 
of money or prefer to proceed to one of the estimations proposed in the table. 

After that, one row of one table will be randomly chosen. Take into account that any row can be 
chosen and it will be the given answer in that row what will determine if you participate in the 
estimation task or if you receive the proposed money for not participating in the estimation task.  

If for the selected row it happens that you have chosen to participate, you will have 40 seconds to 
observe in the same screen the information of all the proposed estimations but you will have to 
respond to just one of them (the one you prefer).  

Remember that you have to answer to one of the estimation task and PRESS THE TOUCH “OK” 
before the times runs out (there will be a clock in the upper right corner of the screen), in case the 
time runs out before you press the bottom you will earn just the 5 euro show up fee.   
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Here the 8 available fixed money tables appear one after the other. 
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This is an example of the result of the random process where a table has been selected by the 
computer.  

Now, given that the participant have chosen “estimation” for the price 5.6€, he had 40 seconds to 
estimate the number of licenses supplied by a football federation in 2020.  
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SHORTENED RAVEN TEST: 
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LOTTERY: 
 

The participants had to state if they preferred a fixed amount of money between 0 and 20 euro or 
play the next lottery: 40 euro with probability 0.5 and 0 euro with probability 0.5. 
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